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P =100 x 10° x 7 X [(15/2) x 1073]%/cos 60° = 3.53 x 10* (N)
= 35.3 (kN)
o = 100 cos 60° = 50 (MPa)
T = 100 sin 60° = 86.6 (MPa)
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x’=0C=0E +EC ) y

y’=0D = AF — AE B —P(z, 1)
OE = AO cos 6 = x cos 0 \‘ Y
EC = AG = APsinf = BOsinf = ysin 6 N
AF = PG = APcos® = BOcos8 = ycos 8 1 \asa
AE = AOsinf = xsin 6 0 S g
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x’=xcosf +ysinf

y’= —xsinf + ycos 6
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oy 25(0x+0)+z\/(0x—0)2+41',%y =50 t3 /a,%+4‘r,%y
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Toax = E\/(Gx —0)2 + 413, = E\/a,? + 414,
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& = > (Sx + ey) + > (ex — ey) cos 26 + nyy sin 260
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Yay = (&, — &) 5in 20 + v, cos 20
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gy = E(sx + sy) — (Sx — ey) cos 260 — nyy sin 26
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g, =1073, &, =—-1073, y,, =107
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& = 1073 cos 260 + 5 X 10~*sin 26
gy = —1073 cos 26 — % x 10~*sin 20
Yay = —2 X 1073 sin 26 + 10™* cos 26
fSiRE 8.5 DA%
o E
21+ v)
TABG, v=2—1ERALT
_ 1155x10° |~ 0331
Ve ox@34x10%)
N"ELND. E£T7,
e E
T 3(1-2v)
£0,
115.5 x 103

K = = 114 x 103 (MP
3(1— 2 x 0.331) (MPa)

PFEoN, ZORMEHIIRTH 5.



